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1. SSHHUHE IR
AT RS S THHTCIh SR I ST TS [ehUSTH I G WTUR [FeHTehoe [93+3 . Onmg fewmustisrgiss
S D IR e e EER e R B R | EETR EA R R RIS
FEfET
(1) (ii)
w3.01 2.99
#13.05 2.95
(OEEIEEER eI R T e N R C R
(ii) SHTHTRTTREA R Ed R
(D EEEE ML e T M T
(iv) srFafommadwsimdmaHia)
2. wresaamTETrETarTEH2 00fstfienaeees Sfcumtamusdfemrmment!?
(i) 40feshafaea
(ii) 94fefafcag
(iii) 93.3ffrafcw=g
(iv) 30ferfrafeaa
3. e R, b, 85umNaCl(s) 5500 wrreR?
(i) 4areree-1 |
(ii) 20eua-1
(iii) 0.27erTa-1
(iv) 2drerTa-1
4. 7fe5M faerm500 mL 11500 ML segfrarsare, drsmHiaerashmierdrame?
(i) 1.5
(i) 1.66w=
(iii) 0.017w=
(iv) 1.59w
o.
TR ?
(i) 4sfe
(ii) 46g Na
(ii1) 0.40g Ca
(iv) 12am=
6. et (C6H1206) Fraitza0.9 g L-12, Ao mierarment?

Comp



' » 44 Cont. No. 9826228312, 9630885746, 907

~= for- IAS/PSC/BANK/SSC/SI/RAILWAY /CPO/CDS/NDA/NET/VYAPAM & Othe

(i) Sum

(ii) 50w

(iii) 0.005w=

(iv) 0.5w

7. 500amuriE18. 2 5amueEueiaaTere eI eRTart?

(i) 0.1ww

(ii) 1w

(iii) 0.5w

(iv) len

8. fereviiereihuariem6.022 X 1023uwmy/srddl0.02M H2SO44rerr100 mL
fitfeH 2S O dsmpatieb i 3

(i) 12.044 x 1020%m

(i) 6.022 x 1023=1

(iii) 1 x 1023=1

(iv) 12.044 x 1023377

9. TR THETSSHA ISR IZFHIA T RIATE 2

(i) 0.034%

(ii) 27.27%

(iii) 3.4%

(iv) 28.7%

10. v reTEmsmERR:CH, Os180 g e iimshisturiaerrrrerm?
(i) C9H1809

(ii) CH20

(iii) C6H1206

(iv) C2H402

11. afefereifaermameaa3.12 g mL-12, @rl.5 mL faaaesmmismsimtsedm 2
(i) 4.7¢

(i) 4680 x 10-3g

(iii) 4.680g

(iv) 46.80g

12. wwifiehehemA e RaaH e TR eTeTde ?

(i) TR

(i) 9 NS S R N

(iii) TwifiRaTaEeshaca R U R R aTa|

(iv) TeifierEfa TR agar|

13, FReTRfrTTaRR e 4Fe(s) + 302(g) — 2Fe203(g)

Comp
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(i) SR A RS RHA TR SRS eaH =

ST RS S o SR T TS e H U S S SR e VTR AR T ohdTe |

(i) SATFRHREHATATH = ICATCHIFATI; FHIAT, FSSATITA b TR TSR
(iii) ferehueratfiernes (cheareiiaicm) HierfmrammeaFe203fHmmEgEsTahdz]
(iv) afefreurstfismne (chearsitadism) fmmmeifimrddismdsantia-e2 0 3fmmmraaeTe
(U b e b AR R R E R IR NI e RER ER R IR ERIGH BRI R

(i) 2Mg(s) + O2(g) —— 2MgO(s)

(ii) C3H8(g) + 02(g) —— CO2(g) + H20(g)

(iili) P4(s) + 502(g) —> P4010(s)

(iv) CH4(g) + 202(2) — CO2(g) + 2H20 (g)

15. FrafaRadtien TR g R e g ST aTash AR T T ShTSTRE T

(1) PR E T TS S S TETE ST S HRTTEh el LS T SR AT - 281

(i) FeersiEEEssHamR, FAqCO23:RCO, SefSHAEHS R b ETEe T HHATIR Sz,

TATaHede2: 1|

(DEEEEINEEEIEEISE SR T

I R O G U R M DR AL B IR S | | R | D RETE | EIEZE R R I
(iv) Reramsieem200 mlsegkes100imL sirrsHRarmeas200 ML SeamsTsc=ehnat]
16. sesarEaiaimsTiqaE =R, Nat, Mg2+, F=smh02—

ELEAIERR IR e e 2

(i) F- <O02- <Mg2+ <Na+

(if) Mg2+ <Na+ <F- <02-

(iii) O2— <F— < Na+ <Mg2+

(iv) O2— <F- <Mg2+ < Na+

17. FAfaiaquesh TR igeTaic

(i) e (31 = 96)

(i) Sferwrtar (S = 98)

(iii) =tfem (5= = 92)

(iv) =fhm (S = 65)

18. freframHfewTeses, P, d ol sifdeecashaaagiharelhiTrheag HIGh T TaHTHaR;
(i) Ta>h>d>e

(i) we>d>di>ug

(iii) fi<d<wa>rH

(iv)f>p>s>d

19. Na, Mg, Al siiSi Frsemsmae-dedisrus.

(1) T<wsT>Fa<HH

(i) Na> Mg > Al > Si

Comp
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(i) T<wmsi<s@a<st

(iv) Na> Mg > Al <Si

20. T (TEEERiH64) e R

(i) [Xe] 4f 3 5d5 6s2

(if) [Xe] 4f 7 5d2 6s1

(iii) [Xe] 4f 7 5d1 6s2

(iv) [Xe] 4f 8 5d6 652

21, TR eRe T UTeh TS eh e e aaee.

(1) AR UIS TR R e SATadhaaIda]

(ii) srenqacaihaeETeTahdEeETadR]

(111) Fsroracaientery, 30-Feh3P-FHeTehichaTasi 4 S-Fashaugcisciag Myl
(IV) SE-SHEHSTTEdHSE, Ao e TR g eIl
22. TARHH, sFR Mo (Sa e HidmssihmeTheEe e,
(h)F>CI>Br>|

(1) Tr<dra<siemrR<smg

(iil) Tr<dua>s>aTg

(iv) TH<diTa<sftom<am

23. SAEdaRv eI SRl

(i) sTradentere i qeehelehie eHaE|
(DEIEREIETININEEARtEIE ZIED

(i) safessfreiacahizTirrau it

(V) sraferhfereideaehisTieraraTs erTaeHE e

24, Aacafe iz A f-FarHStiaiisag, Feclde

(i) cferegw

(i) EsrmoTaea

(i) iortsed

(iv) =

25. freafRaaaaen eSS R TR R TaE [,

(i) >>1 +

(i) I+ > 1->1

(iii) 1>1+ >

(iv) I=>1>1+

26. ITEHEZFIATSTATEE (ST TS TR 3T H R UTEH TR AT [ N TS IS (T H S TTS A e e eTS IS oh [T = TR
(i) [Trew3siivsd]

(i) [suwd- sireauad+]
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(iiii) [BCI3+RBrCI3]
(iv) [NH3sHNO3-]

27.

AV TS e e T e T e ahe A O3 o e el T e U T e e R e
Fefairdf T e?

(i) CO2

(ii) =

(iiii) H20

(iv) SO2

28. NO2+, NO3— stitNH4+ dnrsgemeresisesiiftecasysia.

sraferd

(i) wardt, wah3sieadi2

(ii) v, wh2sivmi3

(iii) w12, wefraieadia

(iv) Ta2, w3

29. PO4 3-3miP—O seshaiferf ot siit= i heiierTaidle
(i)+1

(i) -1

(iii) - 0.75

(iv) + 0.75

30. NO3 - STTorHATSZ ISoRHTU s SRR ST g eiar [eht shleh I Heh T T e
(i)2,2

(i) 3,1

(iii) 1, 3

(iv) 4,0

31. frAfARgaHE RS e s aTH e

(i) BH4-

(i) NH2-

(iii) CO32-

(iv) T3+

32, srerEfRKC aiKp FfeesaKp = Ke (RT)A n sfifimiNH4CH (s) NH3 (g) + HC
(g) faun FmE=RETER?

(i) 1

(i) 0.5

(iii) 1.5

(iv) 2

Comp
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33. wfafrarH2(g) + 12(g) 2HI (g) *fer, areqeatAG V> OEqerfen (K)
g

=0

(ii) %> 1

(i) %=1

(iv) =<1

34, FrfRaatm e R R e e TR T

0 : S

(i) Frerrrerafrr—reE|

(iii) wfrfreraframdegerreendid]

(iv) fRrefrmermeERdR sttt

35. PCI5, PCI3siRCI2ussiasheiS00K wEgemmesiaTshaisasrae:0.8 x 10-3 mol L-
1, 1.2 x 10-3 mol L-1sm1.2 x 10-3 mol L-12: . fafsr=nPCI5 (g) PCI3 (g) + CI2
(g) *feuKc wmmerm

(i) 1.8 x 103 mol L-1

(i) 1.8 x 10-3

(iii) 1.8 x 10—3ugHim-1

(iv) 0.55.x104

36. fFrfaRaaageaThes 2

(i) e T < - : " .
(i) 3 (1) Ar3eesiRare R g mE T HA T TR RS TR AT b e gsd |
(111) ST ST e R SR e Tl

(iv) armmeeTGRETcRH AreTeefifsreh et

37. SRS IFA RS HhIETTEAT g SRETH R R ATTHTIR HETATSITATE,

it Raafsrare T s R STaT e S S e T e e ST ST b AT
TER ST

[Co (H20)6]3+ (aq) + 4Cl- (aq) [ [CoCl4]2— (aq) + 6H20 (l) (ermsh) (Hiem)

(i) AH > Oufafsramrfer

(i) AH <Osfifimmfm

(iii) H = Owfufsramsfere

(V) sesmsRsTaRRAH S iresherammeiarasTeshare|

38. 25°C uerimsaspH 7.0 SH-SEaomHeedTs, THIsh TR R uEgdre, g, H+
AEARBROH- srMtmEiTEAMEaTRI60°C wyrssiespH amfhdrerm?

(i) 7.0 e

(ii) 7.0 Terer

Comp



(iii) 7.0 ===
(RIREENED

39. e, Ka #ieremiteris, tharddhiaadsmmuufiinuis,
TRk HeresKa amseaer:1.74 x 10-5, 3.0 x 10-8t1.8 x 10—
4gasmais0.1 mol dm-3fserrispH wifmfafiaaiesm-asrmeade?

(i) cfeferufe>eueauie>hiHwufeg

(i) SEUERETRE> TR He >hI RIS

(i) wifferrfae>TRuearaTie>ufuisufie

(iv) wiffsrufre>ufufimrufae>eriauie

40. al K, a 2 K a3 K frefafaasifufsrareiisiees s mmierisd

TI208TE+ + TEeE-
T LTt + w2
H2S 2H+ + S2—

al K, a2 K #fra3 K sdfiaedidssr

(la3K=alKxa2K

(ila3K=alK+a2K

(iiila3 K=al K- a2K

(iv)a3K=al K/a2K ‘

41. BF3Fererdienl - e Ra o e e R UToh ST R ST T ?

OEHEREECru
(DERSSSEEESE
(iii) TEaemEemo

(W ELSESINERCIRERESECR T

42 . TR e e R e e TS~ TehTT?

(1) 0.1 mol dm-3 NH40H =%0.1 mol dm-3 HCI

(i) 0.05 mol dm-3 NH40H 0.1 mol dm-3 HCI

(iii) 0.1 mol dm-3 NH40OH =%0.05 mol dm-3 HCI

(iv) 0.1 mol dm-3 CH4COONa =%0.1 mol dm-3 NaOH
43, FfaRaqra iRt e g SHa ST e TR TeTa 2

(i) 0.1 mol dm-3 AgNO3fe==

(i) 0.1"rerEten- Suasiueranmam

(iiii) H20
(iv) el

44.0.01 mol dm-3 CH3COOH (Ka = 1.74 x 10-5) spH #Fmm=mem?

(i) 3.4
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(ii) 3.6

(iii) 3.9

(iv) 3.0

45. CH3COOH =ferrKa 1.8 x 10-583mNH40H *faeK b 1.8 x 10—
SeismiremuEempH g

(i) 7.005

(ii) 4.75

(iii) 7.0

(iv) 637 et

46. AWTFITA B SaTTeuia bl sTerehi ot T Raaesh e e e Tl
(i) s =0

(i) shefi> 0

(iii) sfeh<0

(iv) GV =-RT In2

A7 . TG T M fohaT e SR E e T ST e (e [eTC AT, SHehTeTTLe
Chatelier sfagideniamrtshermaTSITaTe (iR o=

w2 () + 3w=2 (S) 2waua3«(sh)

ffaRaaHeeaEete, Afeshaeaais e Hg T INd [FATSIATE, qTIHTR e SHTaGT SaTSITdTe 7
(i) K adem '

(i) K =

(D EzE

(iv) K srviegmsiaemaagaaiiera g

48. 30°C w=q,

TR ?

(i) urfi<ser<uwie

(ii) urfi<uefem<sern

(iii) Ser<udigm<urft

(V) THieA<gerR<drt

49, R THINEITIRIATR -

(T) FicermaethendT-iaent

(&) TR s

(GRS EAE R BERIRLIERIULECT

(d) feamsi373 K asrmdenas

50, sciifis SN

Comp
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T|AfeeRE
EIEINCIE T e E T B R R E TR B I
CERINECICE R LR
EIERIEEIEIPETIM N

51. Rk erhIa e o HETTaTe?

YRt HOH- SRMSE=Rde

Bl IR RIS BIEEEA R E I EACE

T AR (eI

RIGINEEICEEICEIECRTIE

52. frmfaRaat e e TR RaHTaTe?

I SIHTFANES
HhoEche

i eratzS
SIENSE

53. fmfafaaHee e e 2

uFe sitMn . FFss

aMAQ P . e

P sfrCu . e

€tINa 3NH4 | swiere

54. SracaifomsiieirdisAtersesa G a2 O s e g aiaenifcreaehiaaserae?
(@ 1Gh2

(=) 3 (=) 4

55. fmfafademeariseThreeiiheag e eqeht:
1. difearersgrTss

2. TR geES

3. TefufHETEgETEe

4, smfemREgeETEs

TRl R R TET

EAEN

et

@4213
4123
@) 4321
@) 1234

Comp
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56. frfaRaqueen- AT R ?

T[T TR [ e IR e e

ST R . 153
HITavTTEIAE

B R BRI R B R e R R N ER R EARIN ECAT

57. pHereawsem e feriaaaes e/ awaade/2?

|. TRTFA O HHTR |

faeta, Jamn0-14qerefiraeeifrurieemassameermwl 0-14 . ?
[, SreemmSaATeRTRIT, HiemshlieTerarsad iersTema |
TR TR ST

(v) Herfgdrarae

(&) &, fecfrraiigda

(=) fsfaal ||

S EESIESP]

58. #Al: rgeErTsHTRERad|

ERE] | MBI G REEREHE SIS Gl
MEEIERER At e e n) | Meaon Bean e e
sfiiEHTRe e gea s e | | Fl FIFRlereTeIe|
Hierer | Teeciforshel | Tets)

el TadesifeRTRel Rl

59. @mar/ pH eSS de R ST RISl (8 e =i Toh

T TR TS T THEL TSI T [ STere T [ e TR ST e

ELE IR N IR I R R R B IS R E IR S LRIRERIESI

CiRNEHE I ElEa BB C M e MU R IR Gl LG RERIERI
EUEEISEIEECESIERIESRREINI

60. ferTEerrg e mEal0-8 M RizasichicrepH Hmmsm?

w7 (sf)> 7aifrrl 4

(&) <7 (@) 14

61. sgrehtcien X' ScTRIdTes S agRareRare s X' &
u|feRRTeT

ElEPREE ]

RIHESERIIREAUE

ElGIEEE U

Comp
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62.

ARATA A HE T G d & ST TR [T HE R [T & | Uh S A AATe [T HEA T I AT Ueh et TaR 70T foh
iR faATR s e eTdTR fehatet

TRETHRMTETTRY

HITFTHEEHTTRT

G IPIER

EUEGIE G ETH L)

63. ST R e gH A T RIqHHeh TR TEa 7

EIEN

(v) 133 (sft) 2374

(<) 233 () 134

64. FefaiaaaHisromsSiagmiafhishindets,
Srea Cl 2 Taefirmesicasint-e B r3Fatargsice:

2FeBr3(aq) + 3Cl2(g) = 2FeCl 3 (aq) + 3Br2 (1)
ffafaatasamEreTde

Sy fshaTehfee?

. e G
PN s e
Bl R IDEAUS T P B2 R

EIEIES R S e DRI CaR Cr ETv T

65. fAfaRaaieR-ars T eedrhTEe e ?
7H2S04 > H3PO3 > CH3COOH
sMH3PO3 > H2S04 > CH3COOH
#CH3COOH > H3PO3 > H2S04
fHCH3COOH > H2S04 > H3PO3

66. FreAfaRaaaamuFsIaIoh Hhatcla TSI e [ehaTSTHEhATE ?

ST AT [T
IR
HhimerfieReer
RG]

67. areigHHTITABR STIeEETRISTdTR, drdee

Comp
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UEEIRIEN

ShaERegare, o, 6

Hesrare> 6

Sl[AeeRNR, i, 7

68. f=ferfaaueearee-mese?

1K4 [Fe () 6]

() K2SO4 - A12(S04)3-24H20
(&) CuSO4 - 5H20

(@) NaCl

69. sfrfiseSe

ez (off) seEmE

(&) srgEem () smsEEr

[V Gt IR R0 e B R K B A e R IR D BRI R EAE S R
Tu0°C . WemaHEiR

TS (ff) Tewht

(&) regierT () i

72. fasteieasiafraerarf aarar?
UEISUERIERI
EillEICEREIEER UG RIER
BIESICLINIERI

SR ER]

73. FefafaqideniTeisdanards?

g (s) smiaig

(&) arrars (€F) weiriEesifen

74, FefafaqideniraeaTms?

e (sf) veafifmm

(¥f) wrer (31) ==

75. et aaHeeh e S e AT e S g Zefleh ol e ehsh IHHTHeR L oh THATIE e,
uEifeaw-1 (b) Sifeem-11

(&) diferm-111 (&) dferm-1V

Comp
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76. Sreehh - H eI R A e =T ?
TIETEe (o) BerH

(G E)EIEEESES

77 . AT AT AT ek e e ?
1. Sfm2. amr

3. T4, s

BlEIHWIE Tel M RIETTHERIEIY

(v) 233 (=) 2, 33fid

(=) 2374 (1) 1si3

78. FTETREThIIBTEHETHSIHISTATS

LR IE TG

EUCAR IO EEEARIRNE R BETILIH

BlEICEERNER GEIRCT

G- 8 -FHeTgie

79. Frefefgaiafraeseiafisarare?

w3 (sf) fRi

(&) e () Tegasime

SO o M I C e Ed (IR EE LG MR R E L EISRIE I IR RIGHERE T
EIPCRIRTINEE iR | MR e LRI ER G ENI R
TR RATaETa Tt sl |, el fradicareg
BB ER e NN Rt | R R At e It BRI
Hhier| wer, gl | s

el Terar, Afrsl | acRl

81. RReTeHTH TUgAH eI RO TS

LEIEEE G EIESIES]

(eft) weltersdet (&) Faes

82. R EEeTe;

yufafesrufae (i) wenifswufie

(&) wm=feepufere (<) eréfrepfae

83. WA AT H ST TR | T R Seh T he T S HTE A STTe?
ysgffeRtfe (o) shfaeufie

(ef) wrftrfeerufires (&) aferfie

84, USSR GRS T ISTeh I e Teah eeTH a e f et
TSt () seest

(=) wreest () sEed

Comp
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85. FrtfoafeTeh T IqeHTEE et R s reR e foh
A. Efisrerauia: sTafagias
ELEICIIESIRC NS R IGEE IR IER L]

C. wiserastiirergs s

D. weifrferersmreratiereudsmafasds

(¢) wafeet (s sfrafieht

(ft) watiwlt (1) et

86. "TRrEIHT SEaRT R TS e eI GahadTa | RIS shratez:

[ERIESE e El

PR E rear T

T TehIged =T

EUEIEMI R G rearC it

87. fraffaaiafraeisre-seauceEasasnne?

22 () H2wad

(<) @2w=6 () H6u=6

88. M RaaHu eI U3 U HeRe e L -ohlcTT < ATSITE T
[CTINEIERE]

EIESIREIRIE]

i fereafereraT
EEIERaN)

89. wiem- | wiem- |

A. FETssP . dretfhe|

B. &0Q. s

oY, FIHAT, SIadt

2. IHIATH, ATISTEATHTT
(v) -+, NS; wi-ua; -t

(sft) -, sft-ar, eft-ar; Si-uw
(+f) T-wa; NS; #i-ft; -1

() wum; NS; €-w; -t

90. =iew- | wiew- ||
wetefdierergitie

B. SregeiowieeQ. v
HdieffommserudieesmbDescaling e
ifeaufafrufiegramenitsthen
(v) T, sfi-ug; wi-di; <

(sft) w-w; sft-ar; €=t <

Comp



' » 44 Cont. No. 9826228312, 9630885746, 907

~= for- IAS/PSC/BANK/SSC/SI/RAILWAY /CPO/CDS/NDA/NET/VYAPAM & Othe

(&) Ty, sh-uw, s, -

(@) wum; sh-w, Hie; -

91. AR EUgheIhIa CSTToH TR I O, EHSTHA R H TR ISR TRt
TR S

ElllCiEE R IES ST
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1.Two students performed the same 6. If the concentration of glucose

experiment separately and each one (C6H1206) in blood is 0.9 g L-1, what

ofthem recorded two readings of mass will be themolarity of glucose in blood?

which are given below. Correct readingof H5M

mass is 3.0 g. On the basis of given data, (i) 50 M

mark the correct option out of thefollowing (iii) 0.005 M

statements. (iv)0.5M

Student Readings 7. What will be the molality of the solution

() (i) containing 18.25 g of HCI gas in500 g of

A 3.012.99 water?

B 3.052.95 (1 0.1m

(i) Results of both the students are neither @iy1m

accurate nor precise. (111) 0.5 m

(i) Results of student A are both precise (iv)1m

and accurate. 8. One mole of any substance contains

(iii) Results of student B are neither 6.022 x 1023 atoms/molecules. Numberof

precise nor accurate. molecules of H2SO4 present in 100 mL of

(iv) Results of student B are both precise 0.02M H2S04 solution is :

and accurate. (1) 12.044 %2020 molecules

2. A measured temperature on Fahrenheit (ii) 6.022 x 1023 molecules

scale is 200 °F. What will this readingbe (1) 1 %1023 molecules

on Celsius scale? ¢ (iv).12.044 x 1023 molecules

()40 °C . 9. Whatis thesmass percent of carbon in

(i) 94 °C ~ L\ carbon dioxide?

(iii) 93.3 °C 5 ‘ T ()0.034%

(iv) 30 °C C (i) 27.27%

3. What will be the molarity of a solution,

which contains 5.85 g of NaCl(s) per500 aiil) 3.4%

mL? (Iv)#28.2%

(i) 4 mol L-1 10. The empirical formula-and molecular

(ii)) 20 mol L-1 mass of a compoundare CH20 and180 g

(iiii) 0.2 mol L1 respectively. What will be the molecular

(iv) 2 mol L-1 f_ormula of the compound?

4.1 500 mL of a 5M solution is diltted to (i) C9H1809

1500 mL, what will be the molarity ofthe (if) CH20

solution obtained? (i) C6H1206

(ii) 1.66 M 11. If the density of a solution is 3.12 g

(iiii) 0.017 M mL-1, the mass of 1.5 mL solution

(iv) 1.59 M ipsignificant figures is

5. The number of atoms present in one (i) 4.79

mole of an element is equal to (if) 4680 x 10-3g

Avogadronumber. Which of the following (iii) 4.680g

element contains the greatest number (iv) 46.80g _

ofatoms? 12. Which of the following statements

(i) 4g He about a compound is incorrect?

(ii) 46g Na (i) A molecule of a compound has atoms

(iiii) 0.40g Ca of different elements.

(iv) 12g He

Comp
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(if) A compound cannot be separated into
its constituent elements byphysical
methods of separation.

(iii) A compound retains the physical
properties of its constituent elements.

(iv) The ratio of atoms of different
elements in a compound is fixed.

13. Which of the following statements is
correct about the reaction given
below:4Fe(s) + 302(g) —— 2Fe203(g)

(1) Total mass of iron and oxygen in
reactants = total mass of iron andoxygen in
product therefore it follows law of
conservation of mass.

(i) Total mass of reactants = total mass of
product; therefore, law of
multipleproportions is followed.

(iii) Amount of Fe203 can be increased by
taking any one of the reactants(iron or
0Xxygen) in excess.

(iv) Amount of Fe203 produced will
decrease if the amount of any one of

thereactants (iron or oxygen) isstaken in

E€XCeSS.

14. Which of the‘following reactions'is not ;"f‘;
' % Mg, Al and Si are in thesorder:

correct according to the law: of
conservation of mass.

(i) 2Mg(s) +02(g) —» 2MgO(s)

(ii) C3H8(g) + 02(g) — CO2(g) +
H20(g)

(iii) P4(s) + 502(g) —— P4010(s)

(iv) CH4(g) + 202(g) —— CO2(g).+ 2H20
(9)

15. Which of the following statements
indicates that law of multiple proportion
isbeing followed.

(i) Sample of carbon dioxide taken from
any source will always have carbonand
oxygen in the ratio 1:2.

(i1) Carbon forms two oxides namely CO2
and CO, where masses of oxygenwhich
combine with fixed mass of carbon are in
the simple ratio 2:1.

(ii) When magnesium burns in oxygen,
the amount of magnesium takenfor the
reaction is equal to the amount of
magnesium in magnesiumoxide formed.
(iv) At constant temperature and pressure
200 mL of hydrogen will combinewith 100

mL oxygen to produce 200 mL of water
vapour.

16. Consider the isoelectronic species,
Na+, Mg2+, F—and O2-. The correct
order ofincreasing length of their radii is

(i) F- <02- < Mg2+ <Na+

(i) Mg2+ < Na+ < F- < 02—

(iii)) 02— < F— < Na+ < Mg2+

(iv) 02— < F— < Mg2+ < Na+

17. Which of the following is not an
actinoid?

(i) Curium (Z = 96)

(i) Californium (Z = 98)

(iii) Uranium (Z = 92)

(iv) Terbium (Z = 65)

18. The order of screening effect of
electrons of s, p, d and f orbitals of a
givenshell ef.an.atom on its outer shell
electrons is:

(1) s >p>d >f

) f >d >p >s

(iii) p <d <s >f

(W) f>p >s >d

19°The first ionisation enthalpies of Na,

(i) Na < Mg > AP Si

“@i) Na>Mg > Al > Si

(iti) Na< Mg < Al < Si

(iv) Na>Mg > Al <'Si

20. The electronic configuration of
gadolinium (Atomic number 64) is

(i) [Xe] 4f 3 5d5 6s2

(i) [Xe] 4f 7 5d2 6s1

(iii) [Xe] 4f 7 5d1 6s2

(iv) [Xe] 4f 8 5d6 652

21. The statement that is not correct for
periodic classification of elements is:

(i) The properties of elements are periodic
function of their atomic numbers.

(i) Non metallic elements are less in
number than metallic elements.

(iii) For transition elements, the 3d-orbitals
are filled with electrons after3p-orbitals
and before 4s-orbitals.

(iv) The first ionisation enthalpies of
elements generally increase withincrease
in atomic number as we go along a period.
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22. Among halogens, the correct order of
amount of energy released in electrongain
(electron gain enthalpy) is:

M F>CI>Br>1

(i F<Cl<Br<lI

(lii)F<CI>Br>1

(iv)F<Cl<Br<I

23. The period number in the long form of
the periodic table is equal to

(i) magnetic quantum number of any
element of the period.

(ii) atomic number of any element of the
period.

(iii) maximum Principal quantum number
of any element of the period.

(iv) maximum Azimuthal quantum number
of any element of the period.

24. The elements in which electrons are
progressively filled in 4f-orbital are called
(i) actinoids

(i) transition elements

(iii) lanthanoids

(iv) halogens

25. Which of the following is the correct  °

order of size of the given Species:
MO 1>1=>1+

@iy 1+>1->1

@@i) 1> 1+ >4~

(iv) I->1> I+

26. Isostructural species are those which
have the same shape and
hybridisation.Among the given species
identify the isostructural pairs.

(i) [NF3 and BF3]

(ii) [BF4—and NH4+ ]

(iii) [BCI3 and BrClI3]

(iv) [NH3 and NO3-]

27. Polarity in a molecule and hence the
dipole moment depends primarily
onelectronegativity of the constituent
atoms and shape of a molecule. Which
ofthe following has the highest dipole
moment?

(i) CO2

(ii) HI

(iii) H20

(iv) SO2

28. The types of hybrid orbitals of nitrogen
in NO2+, NO3- and NH4+ respectively
are

expected to be

(1) sp, sp3 and sp2

(ii) sp, sp2 and sp3

(11i) sp2, sp and sp3

(iv) sp2, sp3 and sp

29. In PO43- ion the formal charge on the
oxygen atom of P—O bond is

iH+1

(i)-1

(iii) — 0.75

(iv) +0.75

30. In NO3- ion, the number of bond pairs
and lone pairs of electrons on nitrogen
atom are

22

(i) 3,1

(i) 1,3

(iv).4, 0

31. Which of the following species has
tetrahedral'geometry?

(i) BH4—
W (i) NH2-

(iii) CO32-

(V) H3Q:407

32..We know that the relationship between
Kcand Kpiskp = Ke(RT)A n

What would be the value of An for the
reactionNH4CI (s) UNH3 (g) + HCI (g)
(i1

(i) 0.5

(iii) 1.5

(iv) 2

33. For the reaction H2(g) + 12(g) [12HI
(g), the standard free energy is AGV >
0.The equilibrium constant (K ) would be

HK=0

(ihK>1

(liK=1

(ivyK<1

34. Which of the following is not a general
characteristic of equilibria
involvingphysical processes?

(1) Equilibrium is possible only in a closed
system at a given temperature.
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(if) All measurable properties of the
system remain constant.

(iii) All the physical processes stop at
equilibrium.

(iv) The opposing processes occur at the
same rate and there is dynamicbut stable
condition.

35. PCI5, PCI3 and CI2 are at equilibrium
at 500K in a closed container and
theirconcentrations are 0.8 x 10-3 mol L—
1,1.2 x 10-3 mol L-1 and 1.2 x 10-3 mol
L-1

respectively. The value of Kc for the
reaction PCI5 (g) PCI3 (g) + CI2 (g)will
be

(i) 1.8 x 103 mol L-1

(ii) 1.8 x 10-3

(iii) 1.8 x 10-3 L mol-1

(iv) 0.55 x 104

36. Which of the following statements is
incorrect?

(i) In equilibrium mixture of ice and water
kept in perfectly insulated flaskmass of ice
and water does not change with time.
(i) The intensityof red colour gAncreases
when oxalic acid is added to asolution
containing iron (1) nitrate and potassium
thiocyanate.

(iii) On addition of catalyst the equilibrium
constant value is not affected.

(iv) Equilibrium constant for a reaetion
with negative AH value decreasesas the
temperature increases.

37. When hydrochloric acid is added to
cobalt nitrate solution at roomtemperature,
the following reaction takes place and the
reaction mixturebecomes blue. On cooling
the mixture it becomes pink. On the basis
of thisinformation mark the correct
answer.

[Co (H20)6]3+ (aq) + 4Cl- (aq)
1[CoCl4]2- (aq) + 6H20 (I )(pink) (blue)
(i) AH > 0 for the reaction

(i1) AH < 0 for the reaction

(iii) AH = 0 for the reaction

(iv) The sign of AH cannot be predicted on
the basis of this information.

38. The pH of neutral water at 25°C is 7.0.
As the temperature increases, ionisationof
water increases, however, the oncentration

-

of H+ ions and OH- ions areequal. What
will be the pH of pure water at 60°C?

(i) Equal to 7.0

(i) Greater than 7.0

(iii) Less than 7.0

(iv) Equal to zero

39. The ionisation constant of an acid, Ka,
is the measure of strength of an acid.The
Ka values of acetic acid, hypochlorous
acid and formic acid arel.74 x 10-5, 3.0 x
10-8 and 1.8 x 104 respectively. Which
of the followingorders of pH of 0.1 mol
dm-3 solutions of these acids is correct?
(i) acetic acid > hypochlorous acid >
formic acid

(i) hypochlorous acid > acetic acid >
formic acid

(iii) formic acid. > hypochlorous acid >
acetic acid
(Iv) formic.acid > acetic acid >

‘hypochlorous acid

40. 81K, a2 Kand a3 K are the respective
ionisation constants for the

L followingreactions.
® H2S OH+ + HS-

HS— DH+ + S2—

w25 [ 20 38

The*Correct relationship between al K ,a 2
K'and a3 Kuis

(a3 K=alKxa2K
(Ha3K=alK+a2K

(a3 K=alK-a2K
(vya3K=alK/a2K

41. Acidity of BF3 can be explained on the
basis of which of the following concepts?
(i) Arrhenius concept

(i1) Bronsted Lowry concept

(iii) Lewis concept

(iv) Bronsted Lowry as well as Lewis
concept.

42. Which of the following will produce a
buffer solution when mixed in
equalvolumes?

(1) 0.2 mol dm—-3 NH4OH and 0.1 mol
dm-3 HCI

(i1) 0.05 mol dm-3 NH40H and 0.1 mol
dm-3 HCI

(111) 0.1 mol dm-3 NH4OH and 0.05 mol
dm-3 HCI
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(iv) 0.1 mol dm-3 CH4COONa and 0.1
mol dm-3 NaOH

43. In which of the following solvents is
silver chloride most soluble?

(1) 0.1 mol dm-3 AgNQO3 solution

(ii) 0.1 mol dm-3 HCI solution

(iii) H20

(iv) Aqueous ammonia

44. What will be the value of pH of 0.01
mol dm-3 CH3COOH (Ka =1.74 x 10-5
)?

(i) 3.4

(ii) 3.6

(iii) 3.9

(iv) 3.0

45, Ka for CH3COOH is 1.8 x 10-5 and K
b for NH40OH is 1.8 x 10-5 . The pH
ofammonium acetate will be

(i) 7.005

(i) 4.75

(iii) 7.0

(iv) Between 6 and 7

46. Which of the followingroptions Wilk be

correct for the stage'of half completion
of the reaction A [1B.
(1) AGV =0
(i) AGV >0
Plasterofparisisobtained—
byaddingwatertocalciumsulphate
byaddingsulphuricacidtocalciumhydroxid
e
byheatinggypsumtoaveryhightemperature
byheating gypsum to373 K.
. Bleachingpowder givessmellofchlorine
because it—
IS unstable
gives chlorine on exposure to atmosphere
isamixture ofchlorine andslakedlime

contains excess of chlorine
. Why bases are kept in glass bottles?
BasesproduceOH-ionsinaqueoussolutions

Basicsolutionsareconductinginnature
Bases are corrosive in nature
Baseshavesoapytexture

. Whichoneofthefollowingsaltswhendissolv

edinwatermakesthe solutionbasic?
Sodiumchloride

Coppersulphate

(iii)) AGV <0

(iv) AGV =-RT In2

47. On increasing the pressure, in which
direction will the gas phase reaction
proceed to re-establish equilibrium, is
predicted by applying the Le Chatelier’s
principle. Consider the reaction.

N2 (g) + 3H2 (g) [12NH3 (g)

Which of the following is correct, if the
total pressure at which the equilibrium
is established, is increased without
changing the temperature?

(1) K will remain same

(if) K will decrease

(i) K will increase

(iv) K will increase initially and decrease
when pressure is very high

48. What will be the correct order of
vapour pressure of water, acetone and
etherat30°C. Given that among these
compounds; waterhas maximum

‘boilingpoint and ether has minimum

p -

> w D

boiling point?

. (i) Water < ether < acetone

(||) Water < acetone < ether
(|||) Ether < acetone < water
(|v) Acetone <.ether < water

Ferrlcchlorlde
Sodiumacetate

+Whichofthefollowing saltsareinsoluble
inwater?

ChloridesofFeandMn
NitratesofAgand Pb
Carbonatesof Pband Cu
PhosphatesofNaandNH,

. Two elements gallium and oxygen
combine to form
acompoundGa,03.Whichamongthefollow
ingisthevalency of gallium ?

(@) 1 (b) 2
(c) 3 (d) 4

. Arrange the following bases in increasing
order of their,basicstrength
Sodiumhydroxide
Magnesiumhydroxide
Aluminiumhydroxide
Ammoniumhydroxide
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Selectthecorrectanswerusingthecodegiven

below
Codes:
A B C D
@) 4 2 1 3
(b) 4 1 2 3
(c) 4 3 2 1
(d) 1 2 3 4
56. Whichoneamongthefollowingisnotaprope
rtyofsalt?

a. Saltshaveorderedpackingarrangementscal

ledlattices

b. Saltshave lowmelting pointsbut
highboiling points

c. Saltsarebrittle

d. Saltsconductelectricitywhendissolvedinw

aterorevenin the molten state

57. Which among the following
statements withregard to

I. Itisalogarithmicscale.

1. ThescaleislimitedtoO-

14becausetheionicproductofwateris abouth‘-‘;

10-14
l1l. ThelowerthevalueofpH, thegreaterlstheam

dityofthesolution.
Selectthecorrect answerusing thecode

givenbelow
(@ landIlonly
() I, Iland HI
(c) land Il only
(d) Il only

58. Statementl:MetalionsareLewisacids.
Statementll:Metalionsareelectronpairacc
eptors.

a. BoththestatementsindividuallytrueandStat
ementllis thecorrect explanation
ofStatementl.

b. BoththestatementsareindividuallytruebutS
tatementllisnotcorrectexplanationofState
mentl.

c. StatementlistruebutStatementllisfalse.

d. StatementlisfalsebutStatementllistrue.
59. NeutralwaterwithpHabout7becomesslight
lyacidicwhenaerated.Thisis because
a. oxygenfromairisdissolvedinthewaterwhic

61.

oo

oo

hmakesthe wateracidic
dirt,whichgetcontaminatedwiththewaterd
uringaerationmakes the wateracidic
ultravioletradiationdissociateswatermolec
ulesandmakeswateracidic

carbon-dioxide from air is dissolved

. Theconcentrationofhydrochloricacidinagi

vensolutionis10-8M.Whatisthe valueof
pH forthis solution?

7 (b)> 7 but not 14

(c) <7 (d)14
Humanstomachproducesacid‘X’whichhel
psindigestionoffood.Acid‘X’is

acetic acid
methanoic acid
hydrochloric acid
citric acid

62pl_€lases tug&;ﬁg |IEg}HPeb|L£eO?P&?&IdS turn

&% o S

(o))
S

ue litmus red:
Astudenttestedaliquidwitharedlitmuspape
randitstayedredwithnochange. Thisshowst
hat'theliquid
mustbepurewater
must be an acie
iS nota base
IS neither a base:nor an acid
Whichofthefollowingstatementsregarding
oxidationand reduction are correct?
Inoxidation,lossofelectrontakesplacewher
easinreduction, gain of electron takes
place.
Inoxidation,gainofelectrontakesplacewher
easinreduction, loss of electron takes
place.

Oxidizingagentdecreasestheoxidationnum
berbutreducingagentincreasestheoxidatio
nnumber.
Oxidizingagentincreasestheoxidationnum
berbutreducingagentreducesthe
oxidationnumber.

Selectthe correctanswer usingthe
codegiven below:
Code :

(@) land3 (b) 2 and
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4 c. acertainamountofheatmustbetakenoutfro
(c) 2and 3 (d) 1and mtheglassof watersoas to solidify
4 d. watersolidifiesatOKonly
64. The following equation is an example of 71. Whichoneamongthefollowingdoesnothav
eanallotrope?
a redox a. Oxygen (b) Sulphur
reaction,inwhichCl,istheoxidizingagentan ((E:) tI)\Iltrogen (d)
. . _ arbon
dFeBrsisthereducing agent : 72. Deionisedwaterisproducedby
2FeBr3 (aq)+3Cl2 a. Calgon process
(g)=2FeCl3(aq)+3Br2 (1) b. lon-exchange resin process
. : . c. Clark’sprocess
Whichoneamongthefollowingstatementsis ~ d.  Permutitprocess
Incorrect _ 73.  Whichoneofthefollowingisthesecondary
for this redox reaction? sourceof
a. Oxidizingagentsarethemselvesreduced lightinafluorescentlamp?
b. Reducingagentsgainor appear to gain a Neo'r\I/?aS (b)Argongas
: gagentsg Pp 9 I(:c) ercuryvapour(d)
electrons luorescentcoating
c. Reducing agents are themselves oxidized ~ 74. Whichoneofthe followingisthesoftest?
. - a. Sodium (b)Aluminium
d. Oxidizingagentsoxidizeothersubstances
) o (c) Iron (d)Copper
65. Whichoneamongthefollowingisthecorrect 75. Which among the following elements is
orderofstrengthofacids? abundant on thelunar surface and holds
a. H»SO4>H3P03>CH3COOH the"potential toput an end to
b. H3PO3>H2SO4>CH3COOH . theenergyerisisof theearth?
c. CH3COOH>H3P0O3>H2S0O4 2. \ Helium-I (b)Helium-11 )
d. CH3COOH>H2S04>H3POg Lol S Qe Y
66. Whichoneamongthefollowingisanélectroc | ¢ o Which allotropy of carbon is in rigi
hemicalcellthatcannotbecharged ? v ggs&ﬁém(%gsﬁ'3|rf§:§gémre?
a. Electrolytic cell sl (c) Diamond (d)Carbon
b. Storagecell black
c. Primarycell (7T\Whatarétheelementswhichareliquidsatroo
d. Fuelcell mtemperatureandstandardpressure?
7. ThepHoffreshmilkis6.Whenitturis 1 Helium 2. Mercury
sour thepH 3. Chlorine ~4. Bromine
’ Selectthecorrect answerusing thecodes
a. becomes<6 ivenbelow
b. remainsthesamei.e.,6 a) 2and 3 b)2, 3and 4
c. becomes > 6 Z: 2and 4 d)1 ancks
: _ 78. Theform of carbon known as graphite
d. becomes neutral, i.e., 7 a. Is harder than diamond
68. Whichone among thefollowing is adouble b contalnsahlgher percentage of carbon
salt? than diamond
) c. isa better electrical conductor than
a.  Ka[Fe(CN)e] ; ﬂlamonoll ]
b) K2S04:-A12(S04)3-24H20 . hasequalcarbon-to-
(b) K2504-A15(SO4)3 2 carbondistancesinalldirections
(c) CuS0O4-5H,0 79. WhichoneofthefollowingisalsocalledStran
(d) NacCl gerGas?
a. Argon (b)Neon
69. Oxygenandozoneare (c) Xenon _ _
a. allotropes(b)isomers ) (d)Nitrousoxi
(c) isotopes (d)isobars de
70. Aglassofwaterdoesnotturnintoiceasitreach 80. Statementl:Soapsdonotformlatherwithw
es0°C.Itis because atercontainingsaltsof calciumand
a. waterdoesnotsolidifyat0°C magnesium. Stdfeme
a. Boththestatementsareindividuallytrueand

b. acertainamountofheatmustbesuppliedtoth
eglassofwatersoasto solidify

StatementllisthecorrectexplanationofState
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mentl.
BoththestatementsareindividuallytruebutS
tatementllis notthe correctexplanation

ofStatementl.
Statementlistrue,butStatementllisfalse.
Statementlisfalse,butStatementllistrue.

. Theenzymeinvolvedintheoxidationofetha

noltoformvinegar is

zymase (b)oxidase

(c) acetobacter (d)invertase
ThemainconstituentofVinegaris:
Aceticacid (b)Ascorbicacid
(c) Citric acid (d) Tartaricacid
Soapsaresodiumsaltsoffattyacids.Whichoft
hefollowingfattyacid does not form soap?
Butyric acid (b)Oleicacid

(c) Palmiticacid (d)Stearicacid

. Identifytheenzymewhichconvertsglucoseto

ethylalcohol.
Zymase (b)Invertase

(c) Maltase (d)Diastase

. Mineralacidsarestrongeracidsthancarboxy

licacidsbecause L Y
mineral acids are completely ionised
carboxylic acids are completely ionised
mineral acids are partiallysionised =
carboxylic acids are partially ionised™
(@) Aand:D (o) Band C

(c) Aand B (d Cand D

. ‘Drinkingalcohol’isveryharmfulanditmuans

thehealth.Drinking alcohol’standsfor:
drinking methyl alcohol
drinking ethyl alcohol

drinking propy! alcohol
drinking isopropyl alcohol

. Whichofthefollowinghasshortestcarbon-

carbonbondlength?
C2H2  (b)C2H4

(c) C2He (d)CeH6

. Whichofthefollowingcanbeuseddistinguis

hbetweenethane and ethene?
Alighted splinter
Aqgueousbromine
Litmussolution

Limewater

Column-I Column-I1
Carbon black P. Waterfilters.
Diamond Q. Fuel

Coke R. Jewellery

D. Charcoal S.
Fillerinautomobiles
(@ A-Q;B-R;C-S;D-P
(b) A-P;B-Q;C-Q;D-S
(c) A-S;B-R;C-P;D-Q
(d) A-S;B-R;C-Q;D-P
90. Column-I Column-I1
A. Polyethylene P.woodglue
B. Cellulose acetate Q.Soft drinks
C. Polyvinylacetate
R.Descalingagents
D DilAceticacid S.Photographicfilm.

(@ A-Q;B-S;C-P;D-R

(b) A-S;B-Q;C-P;D-R

(c) A-Q;B-S;C-R;D-P

(d) A-S;B-Q;C-R;D-P

91. Gasweldingusedforweldingbrokenpieceso
firon,wenormally use a mixture of:

a. ethane and oxygen
b.. ethene and oxygen
\ c. ethyne and oxygen
d. ‘ethene and air
92. Onthebasisoffollowingfeaturesidentifythec
W orrectoption
A. Drinkscontainingethanel

93.

B. Thes_edrinksaremajorsourceofincometogov
ernment

@ Alcoholicbeverages

(b) ¢Softdrinks

(c) Carbonated beverages

(d) Rectifiedspirit
Theflavourofappleismainlyduetowhichon
eofthefollowing?

a. Formalin (b)Benzene

(c) Ethanol
(d)Benzaldeh
yde
94. Whichof the following has maximum
density?
a. Chloroform (b)Water
(c) Benzene (d)Ice

95. Additionofethylenedibromidetopetrol
a. increases the octane number of fuel
b. helps elimination of lead oxide
c. removesthesulphurcompoundinpetrol
d. servesasasubstituteoftetraethyllead
96. Theoffendingsubstanceintheliquortragedi
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esleadingtoblindnessetc.,is
a. ethylalcohol
(b)amylalcohol
(c) benzylalcohol
(d)methylalco
hol
97. Thecharacteristic odourof garlicis dueto
a. achlorocompound(b) asulphurcompound
(c)afluorinecompound(d) aceticacid
98. Whichoneofthefollowingisanactivecompo
nentofoilof clove?
a. Menthol (b)Eugenol
(c) Methanol

(d)Benzaldehy
de
99. Considerthefollowingstatementsaboutacet
ylene:

1.
2.
3.

100.

oo o

Itisusedinweldingindustry

It is a raw material for preparing plastics
Itiseasilyobtainedbymixingsiliconcarbidea
ndwaterofthesestatements

(@) 1and 2 are correct (b)1 and 3 are
correct

(c) 2and 3 are correct (h1,2and 3
are correct
Whichoneofthefollowingisthecorrec
tsequenceinincreasingorderofmolecularwe
ightsofthehydrocarbons?

Methane,ethane,propaneandbutane
Propane,butane,ethaneandmethane
Butane, ethane, propane and methane
Butane, propane, ethane and methane

1. (i) 2. (iii) 3. (iii) 4. (ii) 5. (iw)6. @7, (Iv) 8k (i) 9 (i) 20. Gy 21, () 12. (iii)

13. (i) 14. (ii) 15. (ii)26a(i) 17. (iv)id8. (1) 19. (i) 20+ (i) 21. (iii) 22. (iii) 23. (iii) 24. (iii) 25.
(iv) 26. (ii) 27«(ii). 28" ii),29./Gi) 30: (iv) 32 (@)132. (Iv) 33. (iv) 34. (i) 35. (ii) 36. (ii) 37.
(i) 38. (iii) 39. (iv) 40(1) 41. (iii) 42. (iii) 43. (iv) 44. (i) 45. (iii) 46. (i)

48. (i)
49 (d) 50 (b) 51 (©) 52 (d) 53 (© 54 (©) 55 (©) 56 (b)
57 (b) 58 @) 59 (d) 60 (©) 61 (©) 62 @) 63 (d) 64 (b)
65 €)] 66 (©) 67 @ 68 (b)
69 @) 70 (©) 71 (c) 72 (b)
73 (d) 74 @ 75 (c) 76 (c) 77 (c) 78 (© 79 (© 80 @

81 (©) 82 @) 83 ©) 84 ©) 85 @ 86 (b) 87 (@ 88 (b)

89 (d) 90 @) 91 (©) 92 ©) 93 O] 94 (b) 95 (d) 96 (d)

97 (b) 98 (b) 99 (@ | 100 ©)
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